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ECE222
Quiz 6
To get full credit, show all your work.
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1) Find the partial fraction expansion of the function: (S ) =
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2) Find the unilateral Laplace transform of the function:

f@) = [u(t +3) —u(t - 2)]

where u(t) denotes the unit step function. (See the Laplace tables over the page).
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An Abbreviated List of Laplace Transform Pairs
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An Abbreviated List of Operational Transforms
FAUS .. A
Kf(t) KF(s)
F1(e) + fot) — fale) + - Fi(s) + Fa(s) — Fa(s} + -~
daf (1) : -
R sF(s) ~ £(07)
& 2
i st - sf) - L)
4" £t n et e w2 8fQ@7) L dfHOT " f(0”
-—-—‘;,f,,) s"E(S) — s f(07) - 5T f;;)—’ 3fd('2)—------—W{S )
13
f F(x)dx LiC)
A s
Fit — au(t — @),a>0 e F(5)
e r{t) F(s + a)
1 /s
flat),a>0 ;F(;)
dF(s)
1) S
. F(s)
"1 (1) -1) T
m - 4]



